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o For what values of x is the function f(x) = x%(x-2)3 increasing? (10} N
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8. The points x = 0 and -2 are the critical points of f{x) = 3x* « 8x3. Test
each point for local maximum, minimum, or neither, (10)
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. Find the derivative dy/dx when x%y + xy? + y = 4, (10)
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8. Find the equation of the straight line which is tangent to the curve

X2« y® = 2 at the point (1,1). (10)
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9. A radar antenna s located 4 miles from a straight shoreline. An
airplane is flying along the shoreline and the radar is fixed on it. When
the distance between the radar and the plane is 5 miles, the antenna is
rotating at the instantaneous rate of 12 radians per hour. How fast is

the the plane flying? e A - odx (10)
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0. Braw the graph of a function for which £{0) = O, f'(x) > O for all X, and®
(x> 0 for x > 0 and 7""(x) < 0 for x < 0. (5)
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1. Find the center of gravity of the region bounded by the curves y = 0 and 4

Y = 4x - x. Sketch the region and plot the point. (15)
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12. Find the area between the curve y = X5 - x2 - 2x and the x-axis. (10) -
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14, What {s the integral for the Rismann sum:
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